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SECTION — A : MATHEMATICS (538 a=8550)

i he number '’ is &

(2) Rational number

(1) Natural numbe

(3) Integer (44 lrrational number
"' 0D5d af
(1) &% 5 (2)
(3) 2o oms (4) socdaxs Home
2 Whic I HC i g 1 1
Boly Zradd” B

1) (2) I (3 o=10} (4)
3 he zero's of a guadratic polynomial 4) “i8y are
i 12X M g & A
1 | }
(1) I | Y (). 2 (3)y (O, B (4)
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4 If the equation ax™ —§x+4=0 has equal roots the!

s
@ —-8x+ 34 =0 ah == sy g AW L
I. 5 2 ) hEswo Swsy Drered dm"\“i:_' 4) 5
(8= 2y 3 (3 ki
S o+ i . e
¥ L5 A0SR tional number. where p- 4 e
1) A YOTS i
(1} Even numbers (27 Prme pumbe
(3) "-iu.‘.\ig \bers l'“ None |




£ Thﬂ.pair of equations x=0 and x=5 has

—1) Unique solution (2) Infnitely many solutions
(3) Two solutions (4) No solution
¥=0 980 x=5 e sbsture we DA o die
(1) 388 365 s0n aotran (2) wsoasDs Fdten 55A dotron
(3) Bodb >sse% s0A S (4) Dendodd Fdden 5/ dodi

11 The degree of 3 quadratic equation ax>+bv+c=0, a#0 is
ax=+bx+¢=0. g£0 b a5 gdmAn By, SoaP©ED
(1) 1 (2y 2 (3) 3 (4) 4

12 If o B are the roots of a quadratic equation g +hx+c=0, a=0

ax=+bhx+e=0. a#0 s} o S8R &gy Dreren O Pen wown
1 [ P ] 3
Y =—ta” 4+ Zhel o =2
1) h: o L0 2) 774 :
1 f== l
;5] _‘_\‘["-' e 1 ! 4y == \ L
(o]
13 [he roots of a quadratic equation 3 )=() 4are
-
" =3x=10=0 AT
(L) =5, 2 2 (3) 2

14 The sum of first *»’ natural numbers 1s

Fwsdd p’ e doppe Dwdiw
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f"a—*i . then the lines arc

- - @ Coincident
(1) Unique solution 4) No golutions
Q}/Inﬁnitely many solutions
ay bz 5 VoD, & Ope
D8
(1) B8>S 8OA dotran 2) 5
(3) o8 dses S0 dotran (@)imer
.1 are 1. 1 respectively, thenil
16 If sum and product of zero's of a Quadratic polynomial 41¢ 3
corresponding quadratic polynomial is i W
, &3 2 22aF0h A%
0.8 55 eEss Gng) drarge Tugo Hba Erage OO b n "
<F ; Do 4) X =2
W] (2) x*+x+l (@) x*+x-2 )
17 The sum of 10 terms of AP. : 2, 7, 12, woceeneee is 2
U DAy . woEEAS™D 10 dore Todin o ?
(1) 340 (2) 345 (3) 240 (4) 245
18 The slope of the line which makes 1} angle with the positive direction of x-axi§i§
]
X-ofod Gerd & &46° '%} 'm0 Batn T oren Jod 7
(1) -1 20 (3) 1 4) 2
19 The distance between the points (2, 3) and (4. 1) is

(2, 3) Hoaw (4, 1) DodbPo ey drdin Jod ?
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20 1f the given lincs 2y4 k=1 and 3x—5y=7 are parallel, then the value of & is
2r4by=1 fbaty 3r—Sp=7 e Shrcdd Bood maud, & Jend

(Ey=7

-

{ !

o

(3) =13 }Ir -

oif

21 I in the equation si39=]

{0, the value of 37 is ‘47, then the value of x will be

11 =10, svEdmod™ 1 A 7 Dend Y eso, X Deod

/ £ (2 2 (3) 4 (4) 5

v+ 3 =0 have pwo equal rools then k=

(4) £342
23 'he sum of roo W a guadratic equation ? —Tr+1l=0 is
vt =7 I e Etmin i Surere Soda
Ly = | . 3) = 4y ==
) T
2 [he pair M I ¥ (ly=12. represenis the ;;,””-.I..i”.._.
(1) Pama hin 3y No solution
(3) Infmitely m olutior (4) One solution
1 = Gl 2 4, |Bod P o
(1) 2suvodd Dmew (2) pad B
(3] woaih ard (4) TBE >
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Lt ; F
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L s12y=6 has infinitely many solutions if g8 4

25  The pair of equations 3= 4y=4 and 9 ;
Dol b=
St dy=k Sbath Gy+ j2p=6 St s, woosd gt S6h Soor & e |k
W3 a7 (3) 6

3.2

How many two-digit numbers are divisible b

3 & arfAotud BodoRo Sompen Oy 7
Z(1y 30 2y 35 (3) 40 (4) 45

. 3 \ ; [:u e g
In an A.P. if the first term is 4 and 9 term is 20 then 157 term 1s
i

28 ©05EA bk Treldd Sk 4 dobouy § & St 20 eand 15 H 2650 Jod 7
36

(4}

28 In the below feure A py

(Sl adsion fnod A FOR

{ }- 1 "\ f =
% 1 .‘.l‘ 1
- = :
(1) 1434 (2)i94 g 3) 74343 (%) 45347
29 AdBC=A LA f=60° =73 then {
AABC=APOR; A P=60%, £ 0 =75 w0 |
(2} 759 (3) 40° i £
(%) &6O°

(1) ‘9ne 2

"
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From the below figure the value of "x'=

(Bol Shidhy fod 'yt S

(3)-14 (4) 2!

and P L 4R then the valug of 4B 15

k1| In the below [‘I_:g'“-rl_- OB =13 v OP =12 bm
Dl a3 4 3w 0 ) g i 3 £
(506 262 M08 OB =13 ol OP=12 2ob. ®dath OF L AB wand AB e

e,
Fd i
D s
2
L),
75 émiBo.n)

_[ i
AN 2
P
S
(E) 5 cmi30.e0.) (2y 1040 '-'l!lf.-?uﬁ-.ii..) (3310 omis.5) (4
32 [Ifthe point P(x, y) divides the line segment joining the points 4(x,. 1) and B{x;, 5]
*HBS* woddom

internally in the ratio my :m, then Fx. y)
Vo] Dothiesd D d Bar mooedy MmN
at - [ *

{{x,p) Wdoxn Blx;
Wo Doduay Pl 3) Gul Mrdsen
LKy — X, Vs =Ml | (ol X Y+ msy
| e L 27 ] iy i ke e X2 ¥
| | my =iy y i — 15 L=} ;= nt, iy — ity
Py ¥y + M3 | [ myes =ntaxy  myys =mayy
(4) my +my iy + iy |

T X+ Xy
/i-?f | _.;;JT +my T ompimy
SPACE FOR ROUGH WORK /[ 2 208 Beronodudd fotn :

\
C
T
o i
i
T ONEn vl Lol
© L R r{n:-F
1 Lita
ks ¥ |

POLYCET-2022—D ]




33

34

Lk
LF

36

The mid-point of the line segment joining the points (2, 7) and (12, ~7) is
(2, 7) sobars (12, —7) Bochiped® ok Berwodin A E Sdp Doty norisren 7

(1 7.0 27 (1. 0) (3) 0, =7} {4) (0, 7)

The centroid of a triangle is (4, 1) and two vertices are (2. 3) and (7, 6) then the thig

vortex 5

w8 [Bebes ths Sogan (4, 1) oot oo Bodks fgren (2, 3) tbatis (7, 6) eaum ardd #‘?.“ !
(4) (3. -6)

(1) (3, 6) (32X (-3, 6) (3) (=3, -6)

In the below li_u_unj ARST = A REALHhen the value of x 18

(800 Shny Fooll ARST — A REA wovH, x Devd

(1) 12 {(2) 24 (3) 10 {4) 18

s s I 1 1 f -
Which vessel shown in the below figure can hold more water *

Y
52 =
~—1 I
A [4 cm [—

| e | B 1| Cn
| — = ==

| em 4 ¢m
(1) A (2) B
(3) same in A and B {4) Not decided
L‘ll & ehrram ad :.\-";_::l ‘i:r al .l-_ﬂ.'_Tl.-'?- HOA Ao fedds 7
[
- o

5
| | K ——
A [ ] R4l

e —

e — ey

| So.8b.
(1) A 2y B
{3) A dnboxn Be* e A0S mman (4) MdovodBitn,

2 1)

k!i?

38

SPACE FO ) ORK |/ o ana &
E FOR ROIT GH .U\-‘]H_i\ 1“7} A Sirauodnds §%'_}-'jl‘..'

POLYCET-2022—D | ' 9




37 :”1_'-‘ radius of the sphere is increased by 100% then the volume of the resultant sphere
the thirg is ncreased by

2 A'ean Gl spdvasy 100% 2004, Dy Ao Ak wd S0%reay Jod Db
o5 8¢ . (1) 200% (2) 700% . {3)-500% (4) 900%

38 The radii of two cyvlinders are in the ratic 273 and their heights are in the ratio 5 2 3
then the ratio of their volumes are

T o oo Sl 21 3 ot s Mo K8 513 eows, i padtdrme Bnd

T I - .
(1) 20:27 (2) 40: 50 (3) 20:30 447 50: 30

39 RPand RO are the two tangents 1o the circle with centre *0° and £ P00 = 1107 then
ZPRO=

O BoSinrr do fwdd RP wocts RO enBod #658men ®8a5k 2 POQ = 110° wous,
by U Al L
s PRO)
e O
.,-"“_‘__ll."‘a—\-\\_._ﬂ_\_\_ﬂ_\_
A R
f \I —=
“'.r,'llli"’ —F

] —

L 700 (ZY ape (33 35° {4y 100°

40 From the below figure the value of

(EoB b0 dood 'y Dend
A
s R e T
f"' S LN
[ | P
| —
b o ——
%, PR X
et
s
(1) 2021 ¢m o) FE) 2022 ¢m (?I'-:l‘.}
(3) 2220 cm (ol (4) 2020 ¢m efy
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vom the centre of a virele

: : away |
Calculate the length of tangent from a point Ll ’

of radius 9 cm.
(1)

1)

L]

v (1
(2 cm 4y L0 cm

2505, dirdind® ad DO geoth. weuyy

11 em (2) 9 em (3)

46

9 Tod sredrdiumr fo ayeedl, ord dodan aod 15
=1 o_» 1

y 21 s apet A | P =
& Sothay od é‘}:ﬁ':flg Borianhs r-_‘;,o;am Feade =t gan i o - { :
. 7 w50 (4) 10 T
(1) 1 o (2) 9 Doty (3) 12 S
42 If the radius of a sphere is '2#' then the volume will be 47
i o) mredrdin '2r' moud, ovd) ol SBErE) .
W
37 5
4 ] . . = ¥ bl
(1) = () 4mr (3) s/ ¢ 3
: - et B : 3 7.and S then which
43 A circle touches the sides of a quadrilateral ABCD at points P, i and c [
of the following is true 7
= it e B B e M TYB b e
ol 1'-5‘.'._1-_5“ iR I':&.::'}:_\':IE‘;.._ P ‘;.J R &bay S s =50 __-.,,.f:s T ol e 48
R_-0C
1) et |
L7 \
5 107
A~
i A
7 l“*a_“:,
_fr T —d ‘,"1\ 49
(1) AB+CD= AD+ B {2) 4B+CD ;
|
|_1| ] ',:"-?' +0D 40+ By i B Bl = } b |
= - . 5 " Y 1 L
44 [he curved surface area of a Lf‘\| nder 15 264 m= and 1ts v olume 15 924 m- then |=n‘l;|_‘-'hl 8
of the cylinder is i
1 m B o 1 e N i
(1) 3 m (2) .8 m (3) 6 m (4) 4 m
&8 rahn GlwEy, Hgde Broghn 264 5.5, 6 ; 5,80 900, e Erdu
.Jvll‘:
T b 3| & B e
(1) 3 =n (2) 8-2b; (3y 6 & (4) 4 5
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reof 3 o 5 The angle betwee : :
e ol'a ¢ ircle 4 il ctween the Lingent and radius drawn through the point of contagcl 1s

oy

oy -l g ot
Sy S0 Do O e oiE

m |

Hdad Side o HFedn

ik 3) e (4} &=

boEGDe

| ek Do §6 When o by
1T Ny ._! X o e = . - wwr L o :
e are rolled the probability of getting same odd number on two dice 18

oy - L B 3
OO Codo av-Dder S BB

.48
i = (2 : gy
I 35 (3) = 4y —
I8 I3 16
47 CAN hlaal caki ; 1
t- black balls and '6° red balis, Tf one ball is deawn 8t random. then
O gething red ball is
A X ¥ L
4 < OV T fesd. nd w08 o aly Dby ol
=Rt a7
1en which ) By 2 :
vIChH | g ) Eh] e
7
4% | — A 1 | s I
i _I / -} .
L1l I | 1 5
(3] 4 i 17°
0 T ¥ 1 §
4 LEe dength o« 1d ! ! €3 15 or ength. The: angl
< 5o 5T . 5 AR Avtte B e
)30 23 ¥ nl {4y e
16ight 1eEg :
= M nd len i a | I v } B & oroumnd th 1
2 e b 1) Ay s | & . & g ey
i A \
"I‘:._.
| 2600 5
) = ) = % =
J J J3
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If mode

=29, mean = 32 then miedian (I
BPEPTED = 20, iy = 32 wons. begiso =

(1) 29.5 2) 30 '

(3 30.5

th
L ]

The median of 4, -6, -5, 3.0, 5 and 1] is
4. —6.-5,3. 0. S abans 1l o Beigrido

(1) —4 (2) -6

[ - - 3 o . L) < s} k) -_\.'ii
53 Average of 11 numbers is 10.5: If one of the number 9 is de
the remaining numbers is
I If'-tmgw ol 10,5, e dopr O & Sofos, D S ML Tt
() 10.1 2y 10.5 (35 9.5
54 If sin@ = cost 10 <8<90% then tanp
sin 6 =cosf (0< 6 < 90°) wonH and
(1 ) l (2) 4 L3y 2
55 In the FI'H:__'.:! :!H_L‘_h‘ AARC., 2 B=90 an ( — then f} &1
A A B |'_"I' BR=9 14 —
(1) 16 (2) 13 £33 21
56 The tops of two poles are of height 20 m and 14 o
wire makes an angle 30° with the horizontal e lenetl
a3 2 GLEAIL - 14,
{F' ’J m r....l' I._ Im 13) 3 .11
20 sb. Doy 14 . Srdd) de Bosk Boare Ny mdod 5030 v

B dih o erds By PaG o ?
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£7  Identify the ¢

TETEC] statement -

th !I:'H" i ‘21 _I}-Ff -':I'_'- =T} (Ff< Ve
&1zl /L,l_i DEPLE)<] {4) None

= (808 ot ot T (B Sg -
e ]

(2) plE)=1 {3) b= PLE)=] (4) @b e

e 3 then sin-4 4 cos B

SN A + 005 B Dead Jod 7

= o o
(1) —= s - 5L
27 2y =X (3) 7= )
L I W &
20 The value af is _
Loary £
= ¥ =
Vi I !
(1) cosc {2} sino (3) ceseco (4) seca
| By
&0 i (=] =, wid== then 2 8=
i I== s B=
. . <
) 2K (2) I @) % 4y 3
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SECTION — B : PHYSICS (788 #°29:02) ]

focal points.

fbanodroi.,

(2):4 (3) 6 4) 8

s 15 placed in water, it's focal le 67

- . ST
(2) decreases (3) does not change (4) none of the above

o 4 - &
2 ouRRIE ol arareodiciing |
1y : : o S, o
<) drgsn (3] Samcidho (%) i I
i sed n solar cooker is
(2 Convex [.H
il VEX (4) Nonk |
i ol " ) u:,"
| _ |
) (1) o8 5=k
i ; f g ; i =]
i ob an object from the pole to obtain real image in case of g L
2 Aol A RIS & S0 Sedod®
| 2] (3) () F'2 |

HEWINE 15 the lommula for magnification in

Case Ol '\-.P!]n;_‘i 1cal |';|'||-|'|_'-.r 2

kA [ PT.O.
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of the nboye

i

08

mse ol a (3

woer

pliagaly
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rarallel bea of IighT After
(11 Pole
(3) Focus

passing through o convex lens poss through a point calted
(2) Centre of curvature
{4) None of the shove
FIROAE 708 Dowa Wotred ghighy fhoa Gotrdols SGod D Body oo Sk 7

(2) ygoe Hopdan

(4) DR =

Ihe 5izeof the image formed by a convex mimor is always
(47 Enlarpe i A ;
A ped (2} Diminished
(3} Double size of the object (4) None

b g e

o Do SoErE i Japds

(1) Convex mirmor .

WITTOT

(3} #ande
ot 1he cal le L spherical mirror o5 10 em, what e value of radius of
1 Y " .
e £2) 20 em (3) 30 em (4) None
Ao o £y i £ s _l_' oS Hdme o ok 7
Kl i (2 (3) 30 =x {4) o8 5ot
lens .i'.'F'L'l-II'i'\-\. ol
(2) Refractive index of the lens
(4) Nong of the above
<)
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For a convex lens magnification of virtusl image i3 possible only when

distanve is

(1) Sual 1o F (2)greater than |

(3) Jdess than F (4} none of the above
e [RsEnnE

ipn

Sogesrt Sy Auod Jod drding” Shdi doRepas 2t

et o poid il (=
(1) zrglpoddinaid Sbrsd cordin
(3) wrEsoddin Yol @i (4) Q8 =da
' &
1 e | 3 i
In an cve, muscular diaphragm between agueus Numour did b
(1) Ifis (23 "Puml ) Helina \
: = » i £ i A 5 2 ! T
By J el BEYS Wi S0QE O BE0B0EM O i
o _ | A | =
A . il i i
nigle of viston ol a nealtl diilt numa
B G e o
¥y 10 ) |
Ieimapnification o moeave |
i | egual o one { |
1) eHa%5 why a3 !
What is the { i lano
1" 15 the fractive 1nde
e - e S Ao I '}
.
1) G5 ) () f==

I 1 b 13 1
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ply when e objecy

) Erect and vy .
- = L) Ivvariss mad vIE S
3 rect asid) r e 3
- L= £7 lrmiertes i res =g
o o 3 _f"‘J

St Bosdoct TS O Nl & (ot crd DN RS0 7
w i O A -

ey el dal e W
i . ot WPy ATty 1) SmaBraons [afirsl: eory maLrmiis
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B2 A peson is advised (o use 5D lens. What is 1ts focul length ?
SN M 4y 20 cm , |

(1) 50K em (2% 5 ¢m (1) &

i So88 51 dos iy ored Ardodeddd, | orl arargHdGal Jod 7

1] 30 mess (255 ek {(3) 2 To0.a0 (4) 20 Foc.ab. |

83 Direction of electrie current and direction ol eleetrons in a conductor arc | 48
(2) Perpendicular 1o each other
(4} Mone of the above

(Y 1 e
|- VUTIE UITECT IO

1) Cpposite L

8 wi el e 84, Josmioo Ll Do dGoermon |
(1} a® B (7} s rOE 8] eonoM® |
S (4} = ANaoG Sl
¥l | i . e SR o |
84  The deféct by which some peaple can nol séé near objects clearly but can se< distan
jects 15 called
Myopia (2} Citarscl (3) Presbyopia (4 Hypermetropia |
T lud] T e S e u ‘G By SEnEmed) drdfiot. & ﬂ_‘,f.;(’i-'é-f‘ﬁ.lj
- = Rlyper S, L
- g0
i
| 3t AR [2) Zo&d dymvex (3) Sewedaan (4) &8 "'j{\;-.:
85  Focal length of the eve lens changes with the help of
I Pupil (2) Aquecous humour
Clg ._.I_ Liplicial nerve
- I
fdY |- 1HE II
(1 (2) TwR'NE |Ba0 20

BdEn Qend |0 L) oowd, K Dend S s |

._I y L2 ] i ] n
. N (4) 30 |
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w oA Bty i mirked 60 W e 240 Vo Vi the rexintanie i th bul,
[T R ol W bt 0 Y el LT B lm}a#ﬂ Pt g Jod 7
() A (2) 106 (3) 0606 ) sa -

i g i I - ¥

H8 Which of the following s the equation Tor given cirenlt as por Kireholi's loop law 7
- - »

BB 0 e savitoitng [ RN m.‘,ld_i- Gewa Ol ih ddlit D5 7

L]

distunt !

Ipiil {1| I+12=0 (2) a1 |2 I ; Il;] 1x12=1 '.'I] 11=12=10
5":)':{__

1 n i .
g9 Usage ol luse in a circuit prevents from

(1) Power it 02y Overdiand (31 Short cireuit {4y None of the above
a Suotiot® Sred Adoy ol sardrdans
o DR PR Gy ol S dadool
[ 1} Selsp B 88 Y L B S o (4) -Pd"'rj L
1) amaa ek e (£) LSGE'H (1) ard exarg B St

op In series connection of resistors, il one of the resistors brenks down, then
(1) erewt 15 open and no current flows in the circuit
[2) current imcresses i other resistors
(3) current remains the same in other resistors

(4) current decreases n other resistors a little

(2) bAf 5 axtiorel ynamdniiny Db ol
5 &
12) sBGE i ld L LA Parand Mo Soduod
| { ] |! .':llr‘ -'" : o .I . s L .. Ear l\ I\ ‘f‘-'l'-‘- - L "'\:L. :.I._I:_D
2 s =
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SECTION — C : CHEMISTRY (63700 ar&an) JPf‘

91 Four quantum numbers of valence eleciron ol sodium |

Hraato cRnsy BenaE Deset Sl gy aread 57g0lo Romgen

(1) 3,0, 0, +1/2 2y 2, 1, 0. —12

92  The total number-of atomic orbitals in third shell of an atom |

of elements which is based on alomic nUMDET 15

923 1

(1) Doberainer's law of Triads {7y Newland's law of octaves

08

{ = Wacllil
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12 The electronic configuration of an element is 2, 8, 6. Which o Wi

: : 9
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{(3) Phosphorous 44) Chlorine
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(1) Slaked lime + HCY

(3) Quick lime + HCI

Boofl irdb S hold Do ot
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125 The mode of nutrition in Paramoscium is
Stion {2) Absorplior (3) Parasitic (4) i31 In
| 1
(2) g : .. axd
|
SPACE FOR ROUGH WORK / 4 ——
1
|

POLYCET-2022—D | 2 _—
[BTOH poyy




. 126 “hic_ll F'“_" of the brtin cantrols the emotions 7

(1) € |.‘.ll.!i'|1liﬁ1 {2y Diencephalon
E|'-l-r Mo OF e abo ) ik l’-JF-NTl (4) Cerepotium
ot S 2§10 rodnom Rabolios 7
: (1) &EEge (2) Ergo fido

(3) S Dosd (#) sty (ot

—_— i matl Fertilizetion s ahservsd in )
: e : ;
(1) Monkeys (2) Humisins 43) Fish (%) Al of the. abovE
= =y pedddso
(=0 Sl 5 e
(11 Feoew (23 Sondldpen (3) Boen (4} E;;';i
| tand functional unit of nervous system is 2
(2} Nephron (3} Osleocytes {4
] g £ RuBatn [Rareds e
iy
e e 1
Sfol 5oat sjerks al
i ! mp
(1) -Blood
[ Eoveatinn, Shinoed
il - =
™
3 e
el Py sy 3
114 L vILEmI
A gy 2 alad 7

FOR BROLIGH WORK




= |pifferd
af the chest cavily 18— I‘ﬁ'
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138 Dilferences in chirimas . o -
= M character within closely relmed groups of organisms is referred to

| (1) genes . el . g .
A=Y variations (2) (1) and (2) (4) - None of the above
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142 _ functions as filtration unit
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143 Identify the correct photosynthetic equat

1 B0 5
(1) 6CO,+H,0 _Light___, opH,0+H,0 ™0

3 ' Light 5 + AHS O+ Uy
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(4) 6C0,; +12H,0
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(3) ATP and NADPH (4) NADP and NADPH

BN e Dl sl
e .:_‘F."'_' )

Smeie DodlriBabd’s 1 el S A
= HHD =458 Bk
Y ol o TP A

{1} ADP &8at ATl (2) ADP 88055 N \DIP

(3) ATP &tos NADPH (4) NADP 5055 NADPH

SPACE FOR ROUGH WORK / o P e

g B TP
R e
T

POLYCET-2022—D ] -
[ PT.O.




econdary fines: :
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